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M.A. (Economics) | Semester Examination, March 2023
Paper : MAEC101DST : Quantitative Methods
Time: 3 Hrs: 5 Maximum marks: 70; <blis Alea

NI

- GBSy = U PR e S SuFL L iz (3 13,2 o :d«}‘i‘ LUt O PP

< A1 L e S 26 st stz A2 I S yun® Jbl e v P L2ty G102 sl .1
(10x1=10 marks)

%J}&/ U#(200) L P iz /;u;z“_;,mziu)véw/ 't H‘ e SN 08UE 1 0 2

(5x6=30 marks) G e A6 L L s
< L0 (500) b P 12k st s 2 L o BF e Gttt i 0B Ut e 2.3
(3x10=30 marks) e 10 L E Ui
Jil 2

_éag!ﬁéawr‘d}@/) A
?%infinite;w}L/uLn‘LFinite uﬁﬁ{vu/auﬁd‘}@/; A
e U ZJb .

a
{123,..} .b
6Prime Numberssish 32« 99 .c

d

s parallel i ZX-axis .

‘e /1, LB cwar A e Sardits i
A={246810} , B= {x: X is a positive integer . x < 10} a

A ={x:xis a letter in the word FOLLOW} .b
B ={y:yis aletter in the word WOLF} .i



_Eebvalue 58x 4y I+ 3,y —9) = (42).)1 il
_E e BaA erJA % B ={(a,x), (a,y), (b,x)(b,y)}. /1 .iv

-zt ¥Exponential Function{i v

edwvalue .5 SF(3) I-f(x) = x2 — 5x + 3.1/‘40/‘1/'&6.9 Vi

-zftermséy & Lseries fit i
a, =2" a

Epodfies il

Iim 4x+3 a
x—-0 x—2

t¢n/Derivative ¢ (x) = x™  .ix

¢xx = 100 S_>€x/derivative f(x) = 99x X

r;)ﬁ-ﬂ}

e s sA ={12,34} B = {3,456}, C ={56,7.8}, D = {7,89,10}/1 .2
Jl

AuUC

AUBNC

BuCnD

AnCND

An(BuUD)

® o o T o



-JtVenn Diagram Jegioto2 LS5t .

(AuB)' a
A'UB" Db
ANB' .

uindKmug100:@“%&K420w“%ugu,ﬂnrkf,uﬁ<_/g5150uﬁ<_,/.,QL,WOO .
_w%uﬁ;f,u]ud@)l’glg{wgfé(}’”-uj%,

et g Cartesian o K6E fies

f(x) =x*+2x a

f@)=1 b

St dsesif () = x2ug(x) = 9x2 +3 1 .

§Rs 100001t LT U129, £ st Rs. 3000002k & TS ()7
BTt 30T e S

S termyiysi_ 192 termizsi_ 24 termi = ~Geometric Progression{i .

& ekvalue LSEX
2*"2=5 a

log x% —05logx =1log25 .b



-2t e+ Median ssMeand £ 85wl f5¢.5.10

(3/,47

4

20-30

30-40

40-50

50-60

60-70

;wjd/u:/u’/

5

20

10

5

$fai fan 1 fs i1 & 334us122,33.5 .5 Mode sMedian £ Zus J3g00.11

-g")’”u:/ﬁ
.| 0- 10 - 20 — 50 -
o 30-40 | 40-50 60 — 70 | Total
10 20 30 60
& 4 16 6 4 230

u‘l_‘LL’ﬁl.p.lf()L’”,blpiKu);/d/,flb{./55&&/?@5@/}-9?6;/&%?/KJC}’C;LdJ/)&vg.12
-5+ Standard Deviation sMean Deviation < .

Mid Value in Inches

12.5

13

135

14

145

15

155

16

;lﬁd/,{w

4

19

30

63

66

29

18

A(BC) = (AB)C S/ b S ) o tb ™} 300513

1 1 -1 1 3
A=|2 o 3|B=|0 2],c=[;§_32‘14
3 -1 2 —1 4
(AB)' = B'A' S 1Sk 5§ ssS el f3805.14
2
A=|al.B=[1 3 -6]
5




